Maths

Intersections of Lines and
Circles

Miss Davies
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Intersections of lines and circles

2. Find the two points of intersection of

the circle x? + y? = 50 and

the liney = —x

of the simultaneous equations

x?+y% =25
y=2x+1
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Intersections of lines and circles

3. Find the point of intersection of
x?+y?=125and y = 2x — 25

4. Determine whether each pair of
equations has two, one or zero
Intersections.

a) x?+y?=10,y =3x — 10

b) x? +y? =10,y = 2x — 10

c)x?+y?=10,y=4x—10
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Answers
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Intersections of lines and circles

2. Find the two points of intersection of
the circle x? + y? = 50 and
the liney = —x

(5, -5) and (-5, 5)

of the simultaneous equations

x?+y? =25 (1.8, 4.6)

P (-2.6, -4.)
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Intersections of lines and circles

3. Find the point of intersection of
x?+y?=125and y = 2x — 25

(10, -5)

4. Determine whether each pair of
equations has two, one or zero
Intersections.

a) x2+y?=10,y =3x—10 one

b) x> + y? =10,y = 2x — 10 zero

c)x*+y*=10,y =4x—10 two
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